Arithmetic Sequences

Find the nth term of the following arithmetic
sequences:

i 11,16,21,26, ..
iil 30,37,44,51, ..
il 31,27,23,19, ..
[ 19,16,13,10, ..

Find the 100" term of the following sequence:

8,17,26,35, ..
Which term of the following sequence is equal to 1477

3,12,21,30, ...
Which term of the following sequence is equal to 2347

10,17,24,31, ...

Which term of the following sequence is equal to -2713

29,23,17,11, ...

In an arithmetic sequence the second term is & and the
gighth term is 38, What is the value of the first term,
and the common difference?

#  Find the nth term of the arithmetic sequence
7,11,15,19,..

b Which term of this sequence is equal to 4632

How rmany terms are in the following sequences:
i. 103,100,97,..,1
i. 3,10,17,..,38

iii. 1020,1001,98Z, ...,583
iv. 7,11,15,..,51

a Find the nth term of the arithmetic sequence
—4,—-11,—~18,-25, ..

b Which term of this sequence is equal to -8027
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In an arithmetic sequences the first term is 8 and the
20" term is 104, What is the commen difference, and
the nth term?

In an arithmetic sequences the common difference is 5
and the seventh term is 41, What is the first term of the
sequence, and what is the fith term?

In 2n arithmetic sequence the third term is 27 and the
sixth term is 48, What are the values of 2 and 47

The fourth term of an arithmetic sequence is 5 and the
eleventh term is -23. What are the values of o and 47

In an arithmetic sequence the fifth term is 30 and the
ninth term is 18, What are the values of the first term
and the common difference?

In 2n arithmetic sequence the twelfth term is 15 and
the tenth term is 9. Find the value of the first term and
the comrmon difference.

The first termn of an arithrmetic saquence is 3 and the
one hundredth term is 307, What is the value of the
common difference?

A boy invests £1 in the first week of the year, £1.20 the
next, £1.40 the next and so on. How much will he invest
inthe last week of the year?

The 4th, 51 and &t terms of an arithrmetic sequence are
2x + 1, 3x and x + 20, Find x and show that the first
term of the sequence is -3.

The first four terms of an arithmetic sequence are 2,
c—d,2c+4 +7and ¢ — 3d respectively, where ¢
and d are constants, Find £ and d.

An arithmetic sequence follows the eneral rule
U, = 50— 3. Show that this sequence has exactly 16
positive terms.

A pipeline is to be construtted under a lake. It is
caleulated that the first mile will take 15 days ta
cannect. Each further mile will take 3 days longer than
the one before, sothe 1%, 2™ and 3 miles will take 15,
18 and 21 days. What is the nth term of this sequence?
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Find the 100™ term of the following sequence:

8,17, 26,35, ...
Which term of the following sequence is equal to 1472

3,12,21,30, ..
Which term of the following sequence is equal to 23472

10,17,24,31, ...
Which term of the following sequence is pqual to -2712
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In an arithmetic sequence the second term is 8 and the
eighth term is 38. What is the value of the first term,
and the common difference?

a Find the nthterm of the arithmetic sequence
7,11,15,19, ..

b Which term of this sequence is equal to 4632

How rmarny terms are in the following sequences:

i. 103100,97,..,1

i. 3,10,17,..,38
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In an arithmetic sequences the first term is 9 and the
20 term is 104, What is the commeon difference, and
the nth term?

In an arithmetic sequences the common difference is 5
and the seventh term is 41. What is the first term of the
sequence, and what is the nth term?

In an arithmetic sequence the third term is 27 and the
sixth term is 48, What are the values of o and d7

The fourth term of an arithmetic sequence is 5 and the
eleventh term is -22. What are the values of ¢ and d7

In @n arithmetic sequence the fifth term is 20 and the
ninth term is 18, What are the values of the first term
and the common difference?

In an arithmetic sequence the twelfth term is 15 and
the tenth term is 9. Find the value of the first terrm and
the common difference.

The first term of an arithmetic sequence is 3 and the
one hundredth term is 307, What is the value of the
comman differense?

A boy invests £1 in the first week of the year, £1.20 the
next, £1.40 the next and so on. How much will he invest
inthe last week of the year?

The A%, 5" and 6" terms of an arithmetic sequence are
Zx +1, 3x and x + 20. Find ¥ and show that the first
term of the sequence is -3,

The first four terms of an arithmetic sequence are 2,
c—d, 2c+d + 7 and ¢ — 3d respectively, where £
and d arz constants. Find £ and d.

An arithmetic sequence follows the general rule
U, = 50 — In. Show that this sequence has exactly 16
positive terms.,

A pipeline is to be constructed under a lake. It is
calculated that the first mile will take 15 days te
connect. Each further mile will take 3 days longer than
the one before, so the 1%, 2™ and 3™ miles will take 15,
18 and 21 days. What is the nth term of this sequence?



